



## 1.5 ml TubeOne® Microcentrifuge Tubes, Mixed (non-sterile)



#### **Product Highlights**

- Consertively rated to 20,000 x g, but will perform to higher specification under optimal conditions
- Tubes stay sealed during boiling, freezing or centrifuging
- Certified RNase, DNase, DNA and Pyrogen free
- Caps feature extended sealing zone for secure sealing
- Easy to read graduations
- Frosted writing area on side
- Autoclavable
- Manufactured from 100 % pure virgin polypropylene
- Supplied in resealable bags

### **Product Applications**

Sample preparation
Centrifugation
Sample boling or freezing
Sample storage

STARLAB reserves the right to make changes at any time and without prior notice. The content and design of this PDF are protected by national and international copyright law and are the property of STARLAB International GmbH. Any duplication, editing, distribution and any kind of use and utilization of this PDF content in electronic systems, online media and / or libraries or similar databases requires the prior consent of STARLAB International GmbH.

Starlab International GmbH

Neuer Höltigbaum 38 22143 Hamburg Email: info@starlab.de







### **General Data**

Art. No.	S1615-5599
Pack Size	500 Tubes (5 Bags × 100 Tubes)
Sterile	No
Autoclavable	Yes
Volume	1.5 ml
Material	Polypropylene
DNA free	Yes
DNase free	Yes
Free of endotoxins	Yes
Free of heavy metals	Yes
Pyrogen free	Yes
RNase free	Yes
Color	Mixed
Operating temperature	-80°C to 121°C
g-Force max.	20,000 x g

STARLAB reserves the right to make changes at any time and without prior notice. The content and design of this PDF are protected by national and international copyright law and are the property of STARLAB International GmbH. Any duplication, editing, distribution and any kind of use and utilization of this PDF content in electronic systems, online media and / or libraries or similar databases requires the prior consent of STARLAB International GmbH.

**Starlab International GmbH** Neuer Höltigbaum 38

22143 Hamburg Email: info@starlab.de







# More informations about 1.5 ml TubeOne® Microcentrifuge Tubes, Mixed (non-sterile)

Starlab TubeOne<sup>®</sup> 1.5 ml microcentrifuge tubes protect your samples from evaporation, leakage, accidental opening or breakage during boiling, freezing centrifugation and other critical protocol steps. Made from 100% pure polypropylene,

TubeOne<sup>®</sup> tubes contain no processing additives such as slip agents, biocides or antistatic agents - your samples remain protected for potential bioactive contaminants.

STARLAB reserves the right to make changes at any time and without prior notice. The content and design of this PDF are protected by national and international copyright law and are the property of STARLAB International GmbH. Any duplication, editing, distribution and any kind of use and utilization of this PDF content in electronic systems, online media and / or libraries or similar databases requires the prior consent of STARLAB International GmbH.

Starlab International GmbH Neuer Höltigbaum 38 22143 Hamburg Email: info@starlab.de







### **All Variations**

PRODUCT NAME		PACKAGING SIZE	ART. NO.
***	1.5 ml TubeOne® Microcentrifuge Tubes, Natural (non-sterile) Color: Natural Sterile: No Pack Size: 500 Tubes (1 Bag × 500 Tubes)  Create PDF Data Sheet	500 Tubes (1 Bag × 500 Tubes)	S1615-5500
Ĭ	1.5 ml TubeOne® Microcentrifuge Tubes, Natural, Case (non-sterile) Color: Natural Sterile: No Pack Size: 18,000 Tubes (36 Bags × 500 Tubes)  Create PDF Data Sheet	18,000 Tubes (36 Bags × 500 Tubes)	S1615-5500-C
T	1.5 ml TubeOne® Microcentrifuge Tubes, Natural (Sterile) Color: Natural Sterile: Yes Pack Size: 500 Tubes (5 Bags × 100 Tubes)  Create PDF Data Sheet	500 Tubes (5 Bags × 100 Tubes)	\$1615-5510
T	1.5 ml TubeOne® Microcentrifuge Tubes, Natural, Case (Sterile) Color: Natural Sterile: Yes Pack Size: 2,000 Tubes (20 Bags × 100 Tubes)  Create PDF Data Sheet	2,000 Tubes (20 Bags × 100 Tubes)	S1615-5510-C
**	1.5 ml TubeOne® Microcentrifuge Tubes, Natural (non-sterile) Color: Natural Sterile: No Pack Size: 500 Tubes (5 Bags × 100 Tubes)  Create PDF Data Sheet	500 Tubes (5 Bags × 100 Tubes)	S1615-5550

STARLAB reserves the right to make changes at any time and without prior notice. The content and design of this PDF are protected by national and international copyright law and are the property of STARLAB International GmbH. Any duplication, editing, distribution and any kind of use and utilization of this PDF content in electronic systems, online media and / or libraries or similar databases requires the prior consent of STARLAB International GmbH.

Starlab International GmbH

Neuer Höltigbaum 38 22143 Hamburg Email: info@starlab.de







PRODUCT NAME		PACKAGING SIZE	ART. NO.
	1.5 ml TubeOne® Microcentrifuge Tubes, Natural, Case (non-sterile) Color: Natural Sterile: No Pack Size: 15,000 Tubes (30 Bags × 500 Tubes)  Create PDF Data Sheet	15,000 Tubes (30 Bags × 500 Tubes)	S1615-5550-C
<b>N</b>	1.5 ml TubeOne® Microcentrifuge Tubes, Mixed (non-sterile) Color: Mixed Sterile: No Pack Size: 500 Tubes (5 Bags × 100 Tubes)  Create PDF Data Sheet	500 Tubes (5 Bags × 100 Tubes)	S1615-5599
<u>\</u>	1.5 ml TubeOne® Microcentrifuge Tubes, Mixed, Case (non-sterile) Color: Mixed Sterile: No Pack Size: 15,000 Tubes (30 Bags × 500 Tubes)  Create PDF Data Sheet	15,000 Tubes (30 Bags × 500 Tubes)	S1615-5599-C

STARLAB reserves the right to make changes at any time and without prior notice. The content and design of this PDF are protected by national and international copyright law and are the property of STARLAB International GmbH. Any duplication, editing, distribution and any kind of use and utilization of this PDF content in electronic systems, online media and / or libraries or similar databases requires the prior consent of STARLAB International GmbH.

Starlab International GmbH

Neuer Höltigbaum 38 22143 Hamburg Email: info@starlab.de







### **Accessories**

PRODUCT NAI	ME	PACKAGING SIZE	ART. NO.
11	Cap-Locks for 1.5 / 2.0 ml Microcentrifuge Tubes	100 Pcs. (1 Bag × 100 Pcs.)	I1415-1508

STARLAB reserves the right to make changes at any time and without prior notice. The content and design of this PDF are protected by national and international copyright law and are the property of STARLAB International GmbH. Any duplication, editing, distribution and any kind of use and utilization of this PDF content in electronic systems, online media and / or libraries or similar databases requires the prior consent of STARLAB International GmbH.

Starlab International GmbH Neuer Höltigbaum 38

22143 Hamburg Email: info@starlab.de

